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INTERMEDIATE EXAMINATION-2025 
bUVjehfM,V ijh{kk-2025 

( ANNUAL/okf’kZd )  

   Subject  : ECONOMICS ( Elective ) 

fo’k;    %& vFkZ“kkL= ¼ ,sfPNd ½  

I.Com. 

dqy ç”u : 100+30+8 = 138    

Total Questions  : 100+30+8 = 138         
(le; : 3 ?kaVs 15 feuV)        ( iw.kkZad :100 )  
[Time : 3 Hours 15 Minutes]      [Full Marks:100]      
 

ijh{kkfFkZ;ksa ds fy, funsZ'k%  
Instructions for the candidates: 
1. ijh{kkFkhZ 𝑂𝑀𝑅 mÙkj i=d ij viuk ç'u iqfLrdk Øekad ¼10 vadksa dk½ vo'; 

fy[ksaA 

Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the 
OMR Answer Sheet. 

2. ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far as 
practicable. 

3. nkfguh vksj gkf”k;s ij fn, gq, vad iw.kkaZd fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

4. ç'uksa dks /;ku iwoZd i<+us ds fy, ijh{kkfFkZ;ksa dks 15 feuV dk vfrfjDr le; fn;k 
x;k gSA 

15 minutes of extra time have been allotted for the candidates to read the 
questions carefully. 

5. ;g ç'u iqfLrdk nks [k.Mksa esa gS – [k.M&v ,oa [k.M&cA 

This Question booklet is divided into two sections-Section-A and Section-B. 
 

219  
 fo"k; dksM% 

Subject Code: 
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6. [k.M&v esa 100 oLrqfu"B ç'u gSa] ftuesa ls dsoy 50 ç'uksa dk gh mÙkj nsuk vfuok;Z 
gSA ;fn 50 Á”uksa ls vf/kd dk mÙkj nsus ij ÁFke 50 ç'uksa dk gh ewY;kadu gksxkA 
çR;sd ç'u ds fy, 1 vad fu/kkZfjr gSA budk lgh mÙkj dks miyC/k djk;s x;s 
OMR mÙkj i=d esa fn;s x;s lgh fodYi dks uhys@dkys c‚y isu ls izxk<+ djsaA 
fdlh Hkh çdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR mÙkj i=d 
esa ç;ksx djuk euk gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A there are 100 objective type questions out of which only 50 
questions are to be answered. If more than 50 questions are answered, then 
only first 50 questions will be evaluated. Each question carries one mark. For 
answering these darken the circle with blue/black ball pen against the correct 
option on the OMR Answer Sheet provided to you. Do not use 
whitener/liquid/blade/nail etc. on OMR Answer sheet /otherwise the result will 
be treated invalid. 

 

7. [k.M&c esa] 30 y?kq mÙkjh; ç'u gSaA ftuesa ls çR;sd esa 2 vad fu/kkZfjr gSa] ftuesa 
ls fdUgha 15 ç'uksa dk mÙkj nsuk vfuok;Z gSA buds vfrfjDr bl [k.M esa 8 nh?kZ 
mÙkjh; ç'u fn;s x;s gSa] ftuesa ls fdUgha 4 ç'uksa dk mÙkj nsuk gSA çR;sd ç”u ds 
fy, 5 vad fu/kkZfjr gSA 

In Section-B, there are 30 sheet answer type questions, each carrying 2 marks, 
out of which any 15 questions are to be answered. Apart from this, there are 
8 long answer type questions, out of which any 4 questions are to be answered. 
Each question carries 5 marks. 

8. fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA 
Use of any electronic appliances is strictly prohibited. 
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[k. M & v / SECTION-A 

oLrqfu"B ç'u / Objective Type Questions 

 

ç'u la[;k 1 ls 100 rd ds ç’u ds lkFk pkj fodYi fn;s x;s gSa] ftuesa ls ,d lgh 

gSA fdUgha 50 ç'uksa ds mÙkj vius }kjk pqus x, lgh fodYi dks 𝑶𝑴𝑹  'khV ij 

fpfºur djsaA                       𝟓𝟎 × 𝟏 = 𝟓𝟎 

Questions nos. 1 to 100 have four options, out of which only one is correct. 

Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet.              50 × 1 = 50 

1. O;f"V vFkZ'kkL= esa fuEu esa ls fdldk v/;;u fd;k tkrk gS\ 

(A) O;fäxr  ifjokj (B) O;fäxr  QeZ 

(C) O;fäxr  m|ksx (D) buesa ls lHkh 

Which of the following is studies under micro economics? 

(A) Individual Family (B) Individual Firm 

(C) Individual Industry (D) All of these 

2. lhfer lk/ku ,oa vlhfer vko';drk dk fopkj fdlus fn;k\ 

(A) ,Me fLeFk  (B) ek'kZy 

(C) j‚fcUl (D) lsE;qylu 

Who gave the concept of Limited Resources and unlimited wants? 

(A) Adam Smith  (B) Marshall 

(C) Robbins (D) Samuelson 

3. mRiknu ds fuEu esa ls dkSu ls ?kVd gS\ 

(A) Hkwfe (B) Je 

(C) iw¡th (D) mi;qZä lHkh 

Which of the following is a factor(s) of production? 

(A) Land (B) Labour 
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(C) Capital (D) All the above 

4. lcls igys “ekbØks” 'kCn dk ç;ksx djus okyk gS% 

(A) ek'kZy  (B) cksfYMax  

(C) dhUl (D) jSxuj fÝ'k 

The word “micro” is firstly used by: 

(A) Marshall  (B) Boulding  

(C) Keynes (D) Ragnar Frish 

5. ‘ekbØkst’ ftldk vFkZ gksrk gS NksVk fuEu esa dkSu&lk 'kCn gS% 

(A) vjch  (B) xzhd  

(C) teZu  (D) vaxzsth  

‘Micros’ Which means ‘small’ belongs to : 

(A) Arabian word (B) Greek word 

(C) German word (D) English word 

6.  fuEufyf[kr vFkZ'kkL=h esa ls dkSu dY;k.koknh fopkj/kkjk ds ugha gS\ 

(A) dSuu (B) ihxw 

(C) ts-ch-ls (D) ek'kZy 

Which of the following is not a welfare economist? 

(A) Canon (B) Pigou 

(C) J.B.Say (D) Marshall 

7. vFkZO;oLFkk dh dsUæh; leL;k gS% 

(A) D;k mRiknu gks  (B) dSls mRiknu gks  

(C) mRikfnr oLrqvksa dk 

forj.k dSls gks  

(D) mi;qZä lHkh 

The central problem of an economy is: 

(A) What to produce (B) How to produce  

(C) How to distribute 

produced goods  

(D) All the above 
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8. fdl vFkZO;oLFkk esa futh ,oa lkoZtfud {ks= dk lg&vfLrRo gksrk gS\ 

(A) iw¡thoknh (B) lektoknh  

(C) fefJr (D) buesa ls dksbZ ugha 

Which economy has a co-existence of private and public sectors? 

(A)  Capitalist (B)  Socialist  

(C)  Mixed (D)  None of these 

9. fdl vFkZO;oLFkk esa dher ra= ds vk/kkj ij fu.kZ; fy, tkrs gSa\ 

(A) lektoknh (B) iw¡thoknh 

(C) fefJr (D) buesa ls dksbZ ugha 

In which economy decision are taken on the basis of price mechanism? 

(A) Socialist (B) Capitalist 

(C) Mixed (D) None of these 

10. mRiknu lEHkkouk oØ dk <ky fxjrk gS% 

(A) ck;as ls nk;sa  (B) nk;sa ls ck;as  

(C) Åij ls uhps  (D) uhps ls Åij 

The slope of a production possibility curve falls: 

(A) From left to right  (B) From right to left 

(C) From top to bottom (D) From bottom to top 

11. miHkksäk O;ogkj dk v/;;u fd;k tkrk gS% 

(A) lw{e vFkZ'kkL= esa  (B) O;kid vFkZ'kkL= esa 

(C) vk; fl)kar esa (D) buesa ls dksbZ ugha  

Consumer behaviour is studied in : 

(A)  Micro Economics  (B)  Macro Economics 

(C)  Income Theory (D)  None of these 

12. xkslsu dk çFke fu;e fuEu esa dkSu gS\ 

(A) ek¡x dk fu;e 

(B) lhekUr mi;ksfxrk gkzl fu;e  

(C) le&lhekUr mi;ksfxrk fu;e  
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(D) miHkksäk dh cpr 

Which is the First law of Gossen? 

(A) Law of Demand 

(B) Law of diminishing Marginal utility  

(C) Law of Equi-Marginal utility  

(D) Consumer’s Surplus 

13. ctV js[kk n'kkZrh gS 

(A) ewY; vuqikr  (B) vk; vuqikr  

(C) ykxr vuqikr  (D) buesa ls dksbZ ugha 

Budget line indicates 

(A) Price Ratio  (B) Income Ratio  

(C) Cost ratio  (D) None of these 

14. mnklhurk oØ dh <ky fuEukafdr esa ls fdlls ekih tkrh gS\  

(A) c<+rh lhekUr çfrLFkkiu nj (B) lhekUr :ikUrj.k nj 

(C) lhekUr çfrLFkkiu nj  (D) buesa ls dksbZ ugha 

From which of the following is the slope of indifference curve is 

measured? 

(A) Increasing MRS (B) Marginal rate of 

transformation  

(C) Marginal rate of 

substitution (MRS) 

(D) None of these 

15. oLrq dh gj vxyh bdkbZ ds ç;ksx ls lhekar mi;ksfxrk 

(A) ?kVrh gS  (B) c<+rh gS 

(C) fLFkj jgrh gS  (D) 'kwU; gks tkrh gS 

Consumption of every additional unit of commodity, marginal utility 

(A) Diminishing  (B) Increasing  

(C) Remains Constant  (D) Become & zero 
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16. lhekUr mi;ksfxrk ge dSls fudkyrs gSa\ 

(A) 
∆்௎

∆ொ
  (B) 

∆ெ௎

∆ொ
 

(C) 
∆ொ

∆்௎
 (D) 

∆ொ

∆ெ௎
 

How we calculate marginal utility? 

(A) 
∆்௎

∆ொ
  (B) 

∆ெ௎

∆ொ
 

(C) 
∆ொ

∆்௎
 (D) 

∆ொ

∆ெ௎
 

17. mi;ksfxrk dh eki dh tk ldrh gS% 

(A) eqæk ds }kjk  (B) oLrqvksa ds fofue; }kjk  

(C) oLrq ds otu }kjk  (D) buesa ls dksbZ ugha 

Utility can be measured by: 

(A) Money  (B) Exchange of goods  

(C) Weight of the goods  (D) None of these 

18. mi;ksfxrk dk Øe okpd fl)kar fdlus fn;k\  

(A) ek'kZy  (B) fixw 

(C) fgDl vkSj ,yu (D) fjdkMksZ 

Who propounded the ordinal utility theory?  

(A) Marshall  (B) Pigou 

(C) Hicks & Allen (D) Ricardo 

19. vFkZ'kkL= esa mi;ksfxrk dk vk”k;% 

(A) fdlh oLrq esa vko”;drk 

iwjh djus dh “kfDr 

(B) vkuan  

(C) [kq'kh  (D) mikns;rk 

Utility in economics means: 

(A) Want satisfying power 

of a commodity  

(B) Pleasure  
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(C) Happiness  (D) Usefulness 

20. dqy mi;ksfxrk tc fLFkj gksrh gS rc lhekUr mi;ksfxrk gksrh gS%   

(A) 'kwU;  (B) /kukRed  

(C) _.kkRed  (D) xq.kkRed 

When total utility is fixed then Marginal utility is: 

(A) Zero  (B) Positive  

(C) Negative  (D) Qualitative 

21. ek¡x oØ dk lkekU;r% <ky gksrk gS  

(A) ck;sa ls nk;sa Åij dh vksj  (B) ck;sa ls nk;sa uhps dh vksj  

(C) 𝑋&v{k ds lekukUrj  (D) 𝑌&v{k ds lekukUrj 

Demand curve generally slopes  

(A) Upward from left to right  (B) Downward from left to right  

(C) Parallel to x-axis  (D) Parallel to y-axis 

22. ek¡x esa deh ds fuEufyf[kr esa dkSu ls dkj.k gS\  

(A) vk; esa deh  (B) Øsrkvksa dh la[;k esa deh 

(C) miHkksäk dh #fp esa deh  (D) mi;qZä lHkh 

Which of the following is a reason for fall in demand?  

(A) Fall in income  (B) Fall in number of buyers  

(C) Fall in taste of consumer  (D) All the above 

23. ,slh oLrq,¡ ftudk ,d&nwljs ds cnys ç;ksx fd;k tkrk gS] dgykrk gS%  

(A) iqjd oLrq,¡  (B) LFkkukiUu oLrq,¡  

(C) vkjkenk;d oLrq,¡ (D) buesa ls dksbZ ugha 

Goods which can alternatively be used, are called:  

(A) Complementary goods  (B) Substituted goods  

(C) Comfort goods (D) None of these 

24. d‚Qh ds ewwY; esa òf) gksus ls pk; dh ek¡x%  

(A) c<+rh gS  (B) fLFkj jgrk gS  
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(C) ?kVrh gS  (D) buesa ls dksbZ ugha 

With the rise in coffee price, the demand of tea: 

(A) Rise  (B) Remains stable 

(C) Falls  (D) None of these 

25. fuEu esa LFkkukiUu oLrqvksa dk mnkgj.k gS% 

(A) pk; rFkk phuh  (B) twrs ,oa tqjkc  

(C) dye ,oa L;kgh  (D) pk; rFkk d‚Qh 

In the following the example of substitute goods is: 

(A) Tea and Sugar  (B) Shoes and Socks  

(C) Pen and Ink (D) Tea and Coffee  

26. foykflrk dh oLrqvksa dh ek¡x gS%  

(A) csykspnkj gksrh gS (B) ykspnkj gksrh gS 

(C) vR;f/kd ykspnkj gksrh gS (D) iw.kZr;k csykspnkj gksrh gS 

For luxury goods the demand is:  

(A) Inelastic  (B) Elastic  

(C) Highly elastic  (D) Perfectly inelastic 

27. bdkbZ ls de ek¡x dh yksp dks fuEufyf[kr esa dkSu O;ä djrk gS\ 

(A) vko';d oLrq  (B) vkjkenk;d oLrq  

(C) foykflrk oLrq (D) mi;qZä lHkh 

Which of the following shows elasticity less than one? 

(A) Necessary Goods  (B) Comforts goods  

(C) Luxuries goods  (D) All of the above 

28. ek¡x dh yksp ekius ds fy, çfr'kr ;k vkuqikfrd jhfr dk çfriknu fdl us 

fd;k\ 

(A) ek'kZy  (B) ¶yDl  

(C) fgDl (D) buesa ls dksbZ ugha 
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Who propounded the percentage or proportionate method of measuring 

elasticity of demand? 

(A) Marshall  (B) Flux  

(C) Hicks (D) None of these 

29. ek¡x dh yksp fdrus çdkj dh gksrh gS\  

(A) rhu  (B) ikap  

(C) N% (D) lkr 

How many types of elasticity of demand has?  

(A) Three  (B) Five  

(C) Six (D) Seven 

30. LFkkukiUu oLrqvksa dh ek¡x dh yksp gksrh gS% 

(A) 'kwU;  (B) /kukRed  

(C) _.kkRed  (D) ges'kk bdkbZ ls de 

Elasticity of demand for substitute goods is: 

(A) Zero  (B) Positive  

(C) Negative  (D) Always less than unity 

one 

31. ;fn miHkksäk dh vk; esa o`f) ls oLrq ‘X’dh ek¡x de gks tkrh gS rks oLrq 

‘X’ gksxh  

(A) thou j{kd oLrq  (B) vko';d oLrq  

(C) foykflrk oLrq (D) fxfQu oLrq 

If the increase in income of consumer reduces the demand of commodity 

‘X’, the commodity ‘X’ will be:  

(A) Life Saving goods (B) Essential goods  

(C) Luxury goods (D) Giffin Goods 

32. ek¡x dh dher yksp ls vfHkçk; gS%  
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(A) dher esa ifjorZu ds 

dkj.k ek¡x esa ifjorZu  

(B) ek¡x esa ifjorZu 

(C) okLrfod vk; esa ifjorZu  (D) dher esa ifjorZu 

Price elasticity of demand means:  

(A) Change in demand due 

to change in price  

(B) Charge in demand  

(C) Charge in real income  (D) Charge in price 

33. mRiknu Qyu esa mRiknu fdldk Qyu gS\  

(A) dher dk (B) mRifÙk ds lk/kuksa dk  

(C) dqy O;; dk (D) buesa ls dksbZ ugha 

In production function, production is a function of ? 

(A) Price  (B) Factors of production  

(C) Total expenditure  (D) None of these 

34. nh?kZdkyhu mRiknu Qyu dk lEcU/k fuEu esa ls fdlls gS\  

(A) ek¡x ds fu;e ls  (B) mRifÙk òf) fu;e ls  

(C) iSekus ds çfrQy fu;e ls  (D) ek¡x dh yksp ls 

Long-run production function is related to which of the following?  

(A) Law of demand  (B) Law of increasing return  

(C) Law of return to scale  (D) Elasticity of demand 

35. ifjorZu'khy vuqikr dk fu;e lacaf/kr gS%  

(A) vYidky vkSj nh?kZdky nksuksa ls    (B)  nh?kZdky ls  

(C)     vYidky ls        (D) vfr nh?kZdky 

Law of variable proportion is related to:  

(A) Both short term and long term        (B) Long term  

(C)   Short term          (D) Very long- term 

36. tc vkSlr mRikn ¼AP½ vf/kdre gksrk gS] rc lhekUr mRikn ¼MP½\  
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(A) vkSlr mRikn ds leku 

gksrk gS  

(B) vkSlr mRikn ls de gksrk 

gS 

(C) vkSlr mRikn ls vf/kd 

gksrk gS  

(D) mi;qZä esa ls dksbZ Hkh gks 

ldrk gS 

When Average Product (AP) is maximum, then Marginal Product (MP) 

is?  

(A) Equal to AP  (B) Less than AP  

(C) More than AP   (D)  Can be any one of the     

above 

37. ,d QeZ dk mRiknu Qyu gS%  

(A) mRiknu  (B) vkxrksa ,oa fuxZrks esa  lEcU/k  

(C) ykxr (D) lk/ku 

The production function a firm is:  

(A) Production  (B) Relationship between input and 

output  

(C) cost (D) factors 

38. tc 100 bdkbZ mRiknu djus dh dqy fLFkj ykxr ₹ 30 gks vkSj vkSlr ifjorhZ 

ykxr ₹ 3 gks rks dqy ykxr gksxh&  

(A) ₹ 3  (B) ₹ 30 

(C) ₹ 270  (D) ₹ 330 

When total fixed cost of production of  100 units is  ₹ 30 and the average 

variable  cost is ₹ 3, then the total cost will be-  

(A) ₹ 3  (B) ₹ 30 

(C) ₹ 270  (D) ₹ 330 

39. vkSlr ykxr oØ dk vkdkj gksrk gS&  

(A)     𝑈  vdkj tSlk    (B)  vk;rkdkj vfrojoy; vkdj 

(C) 𝑥&v{k dh lekukUrj js[kk   (D)  buesa ls dksbZ ugha 
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The shaped of average cost curve is:  

(A) U Shaped     (B)  Rectangular hyperbola shaped 

(C)   Line parallel to x-axis   (D)  None of these 

40. fuEu esa ls dkSu lk dFku lR; gS\ 

(A) AC=TFC–TVC  (B) AC = AFC + TVC  

(C) AC=TFC+AVC  (D) AC =AFC + AVC 

Which of the following statement is true ? 

(A) AC=TFC–TVC  (B) AC = AFC + TVC  

(C) AC=TFC+AVC  (D) AC =AFC + AVC 

 

41. ekSfæd ykxr esa fuEufyf[kr esa fdls lfEefry fd;k tkrk gS\  

(A) vO;Dr ykxrsa  (B) lkekU; ykHk 

(C) O;Dr ykxrsa  (D) mi;qZä lHkh 

Which of the following is included in Monetary cost?  

(A) Implicit Cost  (B) Normal Profit  

(C) Explicit Cost  (D) All the above 

42. fuEufyf[kr esa ls dkSu fLFkj ykxr ugha gS\ 

(A) C;kt  (B) ches dk çhfe;e  

(C) dPps eky dh ykxr  (D) QSDVªh dk fdjk;k 

Which of the following is not fixed cost ? 

(A) Interest  (B) Insurance Premium  

(C) Cost of Raw Material  (D) Factory Rent 

43.  MR çnf'kZr fd;k tkrk gS 

(A) 
∆்ோ

∆ொ
 (B) 

்ோ

ொ
 

(C) 
∆஺ோ

ொ
 (D) buesa ls dksbZ ugha 

MR is shown as: 
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(A) 
∆்ோ

∆ொ
 (B) 

்ோ

ொ
 

(C) 
∆஺ோ

ொ
 (D) None of these 

44. fdl cktkj esa 𝐴𝑅 = 𝑀𝑅  gksrk gS\ 

(A) ,dkf/kdkj  (B) ,dkf/kdkjh çfr;ksfxrk 

(C) (A) ,oa (B) nksuksa  (D) iw.kZ çfr;ksfxrk 

In which market AR=MR? 

(A) Monopoly  (B) Monopolistic competition 

(C) Both  (A) and (B)  (D) Perfect Competition 

45. fuEufyf[kr esa dkSu&lk dFku lgh gS\  

(A) vkSlr vkxe (AR) vkSj 

dher ,d gS  

(B) vkSlr vkxe js[kk vkSj 

ek¡x js[kk ,d gS  

(C) (A) vkSj (B) nksuksa  (D) buesa ls dksbZ ugha 

Which of the following statement is true? 

(A) AR and Price are same (B) AR curve and Demand 

curve are Same. 

(C) Both (A) and (B)  (D) None these 

46. ,dkf/kdkjh çfr;ksfxrk esa D;k fLFkj jgrk gS\  

(A) AR  (B) MR 

(C) AR vkSj MR nksuksa (D) buesa ls dksbZ ugha 

In monopolistic competition, which of the following remains constant? 

(A) AR (B) MR 

(C) Both AR and MR (D)  None of these 

47. QeZ ds larqyu esa gksrk gS 

(A) MR=MC (B) MR>MC 

(C) MR<MC (D) MR=MC=0 

For a firm’s equilibrium: 

(A) MR=MC (B) MR>MC 
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(C) MR<MC (D) MR=MC=0 

48. mRiknd larqyu dh fuEufyf[kr esa dkSu lh fjfr;k¡ gSa\ 

(A) dy vkxe ,oa dqy 

ykxr jhfr  

(B) lhekUr vkxe ,oa lhekUr 

ykxr jhfr  

(C) (A) ,oa (B) nksuksa  (D) buesa ls dksbZ ugha 

Which is a method of producer’s equilibrium? 

(A)   TR and TC Method (B)   MR and MC Method 

(C)   Both (A)  and (B) (D)   None of these 

49. ,d QeZ gkfu dh fLFkfr esa mRiknu rc djrh gS tc  

(A) ewY; vkSlr ykxr ls 

vf/kd gks  

(B) ewY; vkSlr ykxr ds 

cjkcj gks  

(C) ewY; vkSlr ifjorZu'khy 

ykxr ls vf/kd gks  

(D) ewY; vkSlr ifjorZu'khy 

ykxr ls de gks 

A firm produces in the State of loss when: 

(A) Price is greater than AC (B) Price is equal to AC 

(C) Price is more than AVC (D) Price is less than AVC 

50. oLrq dh iwfrZ ds fu/kkZjd ?kVd gS&  

(A) oLrq dh dher  (B) lacaf/kr oLrqvksa dh dher 

(C) mRiknu lk/kuksa dh dher  (D) mi;qZä lHkh 

Determining  factor of Supply of goods is: 

(A)   Price of goods (B)   Price of Related goods 

(C)   Price of Factors of 

Production 

(D)   All the above 

51. fdlh oLrq dh iwfrZ dh ek=k vkSj mldh dher ds chp fdl çdkj dk lEcU/k 

ik;k tkrk gS\ 

(A) foykse  (B) çR;{k  

(C) (A) ,oa (B) nksuksa  (D) buesa ls dksbZ ugha 
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Which type of relationship is found between quantity supplied of a goods 

and its price? 

(A) Inverse (B) Direct 

(C) Both (A) and (B) (D) None of these 

52. ;fn fdlh oLrq dh dher esa 60% dh òf) gks] ijUrq iwfrZ esa dsoy 5% dh 

òf) gks] ,slh oLrq dh iwfrZ gksxh%  

(A) vR;f/kd ykspnkj  (B) ykspnkj  

(C) csykspnkj (D) iw.kZr% csykspnkj 

If the price of goods rises by 60% but supply increases by only 5%, the 

supply of goods will be - 

(A) Highly elastic  (B) Elastic  

(C) Inelastic  (D) Perfectly Inelastic 

53. cktkj dh fuEufyf[kr esa dkSu&lh fo'ks"krk gS\ 

(A) ,d {ks=  (B) Øsrkvksa ,oa foØsrkvksa dh 

mifLFkfr 

(C) oLrq dk ,d ewY; (D) mi;qZä lHkh 

Which of the following is the characteristic of a market?  

(A) One Area  (B) Presence of both buyers 

and sellers 

(C) Single Price of the 

commodity 

(D) All the above 

54. cktkj fLFkr ftlesa ,d Øsrk gksrk gS dgykrk gS% 

(A) ,dkf/kdkj (B) };kf/kdkj 

(C) eksuksIlksuh (D) buesa ls dksbZ ugha 

Market situation where there is only one buyer is called:  

(A) Monopoly  (B) Duopoly  

(C) Monopsony  (D) None of these 
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55. ,dkf/kdkjh çfr;ksfxrk dk fuEufyf[kr esa dkSu lh fo'ks"krk gS\ 

(A) foHksnh—r mRikn  (B) foØ; ykxrsa 

(C) cktkj dk viw.kZ Kku  (D) mi;qZä lHkh 

Which one of the following is a feature of monopolistic competition? 

(A) Differentiated product  (B) Selling cost  

(C) Imperfect knowledge of 

market  

(D) All the above 

56. fdl cktkj esa QeZ dh ek¡x oØ iw.kZ ykspnkj gksrk gS\ 

(A) iw.kZ çfr;ksfxrk  (B) ,dkf/kdkj 

(C) ,dkf/kdkjh çfr;ksfxrk  (D) vYikf/kdkj 

In which market demand curve of a firm is perfectly elastic? 

(A) Perfect competition  (B) Monopoly  

(C) Monopolistic competition (D) Oligopoly 

57. iw.kZ çfr;ksfxrk esa D;k fLFkj jgrk gS\ 

(A) AR (B) MR 

(C) (A) ,oa (B) nksuksa  (D) buesa ls dksbZ ugha 

Which of the following remains constant in perfect competition? 

(A) AR  (B) MR 

(C) Both (A) and (B) (D) None of these 

58. fdl çdkj ds cktkj lajpuk esa fdlh oLrq dk ,d vkSj dsoy ,d mRiknd 

gksrk gS\ 

(A) iw.kZ çfr;ksfxrk  (B) ,dkf/kdkj 

(C) viw.kZ çfr;ksfxrk  (D) buesa ls dksbZ ugha 

In which type of market Structure, there is one and only one producer of 

an article? 

(A)   Perfect completion (B)   Monopoly 

(C)   Imperfect competition (D)   None of these 
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59. iw.kZ çfr;ksfxrk cktkj esa lHkh QeZa fdl çdkj dh oLrqvksa dk mRiknu djrh 

gS\ 

(A) fudV çfrLFkkid (B) le:i 

(C) foHksnh—r (D) ?kfV;k 

What types of goods do all firms produce in perfect competition market? 

(A) Near replacement  (B) Homogeneous  

(C) Differentiated (D) Inferior 

60. larqyu dher ds fu/kkZjd ?kVd dkSu ls gSa\ 

(A) oLrq dh ek¡x  (B) oLrq dh iwfrZ 

(C) (A) ,oa (B) nksuksa  (D) buesa ls dksbZ ugha 

Which factor determines equilibrium price?  

(A) Demand for commodity  (B) supply of commodity  

(C) Both (A) and (B)  (D) None of these 

61. Þfdlh oLrq dh dher ek¡x vkSj iwfrZ dh 'kfä;ksa }kjk fu/kkZfjr gksrh gS** fdlus 

dgk Fkk\ 

(A) tsoUl (B) okyjl 

(C) ek'kZy (D) buesa ls dksbZ ugha 

Who said, “price is determined by both demand and supply forces.” 

(A) Jevons (B) Walras 

(C) Marshall  (D) None of these 

62. dher ml fcanq ij fu/kkZfjr gksrh gS tgk¡% 

(A) oLrq dh ek¡x vf/kd gks  (B) oLrq dh iwfrZ vf/kd gks  

(C) oLrq dh ek¡x vkSj oLrq 

dh iwfrZ cjkcj gks 

(D) buesa ls dksbZ ugha 

Price of a commodity is determined at a point where  



 

Page 19 of 31 
 

(A)   Demand of goods 

exceeds 

(B)   Supply of goods 

exceeds  

(C)   Demand of goods and 

supply of goods to be equal 

(D)   None of these 

63. ek¡x esa ifjorZu ds fuEufyf[kr dkSu ls dkj.k gSa\ 

(A) miHkksDrk dh vk; esa 

ifjorZu  

(B) lacaf/kr oLrqvksa dh dher 

esa ifjorZu  

(C) tula[;k òf)  (D) mi;qZä lHkh 

Which of the following is a reason of change in demand?  

(A) Change in consumers 

income  

(B) Change in price of Related 

goods  

(C) Population increase  (D) All the above 

64. cktkj ewY; ik;k tkrk gS%  

(A) vYidkyhu cktkj esa  (B) nh?kZdkyhu cktkj esa  

(C) vfrnh?kZdkyhu cktkj esa  (D) buesa ls dksbZ ugha 

Market price is found in: 

(A) Short period market  (B) Long period market  

(C) Very long period 

market  

(D) None of these 

65. vfr vYidky esa iwfrZ gksxh% 

(A) iw.kZr% ykspnkj (B) iw.kZr% csykspnkj 

(C) ykspnkj (D) buesa ls dksbZ ugha 

In very short period supply will be : 

(A) Perfectly elastic  (B) Perfectly inelastic  

(C) Elastic  (D) None of these 

66. ek¡x vkf/kD; dh fLFkfr gksrh gS tc%  

(A) ek¡x dh ek=k vR;f/kd gks (B) ek¡x ,oa iwfrZ cjkcj gks 
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(C) iwfrZ dh rqyuk esa ek¡x 

vf/kd gks  

(D) iwfrZ dh rqyuk esa ek¡x 

de gks 

Demand is in a State of excess when  

(A) Quantity of demand is 

high 

(B) Demand and supply are 

equal  

(C) Demand is higher than 

supply  

(D) Demand is less than 

supply 

67. lk/ku dher fu/kkZj.k ds fuEu esa dkSu&ls ?kVd gSa\  

(A) yxku  (B) etnwjh 

(C) C;kt  (D) mi;Zqä lHkh 

Which is/are the component of factor(s) price determination? 

(A) Rent  (B) Wages  

(C) Interest  (D) All the above 

68. lef"V vFkZ'kkL= dh fuEufyf[kr esa dkSu lh lhek,a gSa\  

(A) lkewfgd vFkZ'kkL=h; 

fojks/kkHkkl 

(B) oS;fDrd bdkb;ksa dk 

vogsyuk 

(C) (A) ,o (B) nksuksa  (D) buesa ls dksbZ ugha 

Which one of the following is the limitation of Macro Economics?  

(A) Collective Economics 

Paradox  

(B) Ignores Individuals 

units  

(C) Both (A) and (B)  (D) None of these 

69. jkstxkj fl)kUr dk lEcU/k gS% 

(A) LFkSfrd vFkZ'kkL= ls (B) O;f"V vFkZ'kkL= ls  

(C) lef"V vFkZ'kkL= ls  (D) buesa ls dksbZ ugha 

Employment theory is related to: 

(A) Static Economics  (B) Micro Economics  
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(C) Macro Economics (D) None of these 

70. lef"V vFkZ'kkL= v/;;u djrk gS\ 

(A) iw.kZ jkstxkj dk (B) lexz dher Lrj dk 

(C) ldy jk"Vªh; mRikn dk  (D) mijksDr lHkh dk 

Macro Economics studies: 

(A) Full employment  (B) Aggregate price level  

(C) Gross National Product  (D) All the above  

71. ̂LV‚d* ds vUrxZr fuEufyf[kr esa ls dkSu 'kkfey gSa\ 

(A) eqæ dk ek=k  (B) /ku  

(C) xksnke esa j[kh xsgw¡ dh ek=k (D) ;s lHkh 

Which one of the following is included  in a ‘stock’? 

(A) Quantity of money  (B) Wealth  

(C) Quantity of wheat 

stored in ware-house  

(D) All these 

72. fuEufyf[kr esa dkSu lk lef"V vFkZ'kkL= dh fo"k; oLrq ugha gS\ 

(A) jk"Vªh; vk;  (B) fons'kh fofue; 

(C) ek¡x dk fu;e (D) lkoZtfud O;; 

Which of the following is not a subject matter of macro Economics?  

(A) National Income  (B) Foreign Exchange  

(C) Law of Demand  (D) Public Expenditure 

73. pØh; çokg ds vUrxZr fuEufyf[kr esa dkSu 'kkfey gS\  

(A) okLrfod çokg  (B) ekSfæd çokg 

(C) (A) ,oa (B) nksuksa  (D) buesa ls dksbZ ugha 

Which one of the following is included in Circular Flow?  

(A) Real Flow  (B) Monetary Flow  

(C) Both (A) and (B) (D) None of these 
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74. çokg ds vUrxZr fuEufyf[kr esa dkSu 'kkfey gS\ 

(A) miHkksx  (B) fuos'k  

(C) vk;  (D) mi;qZä lHkh 

Which are of the following is included in flow?  

(A)   Consumption  (B)   Investment  

(C)   Income  (D)   All the above 

75. pkj {ks=h; vFkZO;oLFkk ds pØh; çokg esa larqyu ds fy, 'krZ fuEufyf[kr esa 

dkSu lh gS\ 

(A) C + I (B) C + I + G 

(C) C + I + G + (X – M) (D) buesa ls dksbZ ugha 

Which is the equilibrium condition of circular flow in four sector model?  

(A)   C + I (B)   C + I + G 

(C)   C + I + G + (X – M) (D)   None of these 

76. lk/ku ykxr ij 'kq) jk"Vªh; mRikn dks dgk trk gS\ 

(A) jk"Vªh; vk;  (B) ldy fuos'k 

(C) ?kjsyq vk;  (D) buesa ls dksbZ ugha 

Net National Income at Factor cost is called?  

(A) National income  (B)   Gross investment   

(C)   Domestic income  (D) None of these 

77. fdlh vFkZO;oLFkk esa ,d o"kZ ds vUrxZr mRikfnr vafre oLrqvksa rFkk lsokvksa ds 

cktkj ewY; dks dgrs gSa% 

(A) dqy jk"Vªh; mRikn  (B) jk"Vªh; vk;  

(C) dqy ?kjsyq vk;  (D) fo'kq) jk"Vªh; mRikn 

The market value of all final goods and service produced in an economy 

over a year is called:  

(A)   Gross National Product (B)   National Income  

(C)   Gross Domestic Income (D)   Net National Product 
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78. ,d vFkZO;oLFkk esa dkSu lk {ks= lfEefyr jgrk gS\ 

(A) çkFkfed  (B) f}rh;d  

(C) rr̀h;d  (D) buesa ls lHkh 

Which sector is included in an Economy? 

(A) Primary  (B) Secondary  

(C) Tertiary  (D) All of these 

79. çkFkfed {ks= esa fuEufyf[kr esa dkSu 'kkfey gS\ 

(A) Hkwfe  (B) ou   

(C) [kuu  (D) ;s lHkh 

Which is included in primary sector?  

(A) Land  (B) Forest  

(C) Mining  (D) All these  

80. f}rh;d {ks= esa fuEufyf[kr esa dkSu lh lsokvksa dks lfEefyr fd;k tkrk gS\ 

(A) chek  (B) fofuekZ.k  

(C) O;kikj  (D) cSafdax 

Which one of the following is included in secondary sector? 

(A) Insurance (B) Manufacturing  

(C) Trade  (D) Banking 

81. ykHk ds fuEufyf[kr esa dkSu & ls ?kVd gSa\ 

(A) ykHkka'k  (B) vforfjr ykHk  

(C) fuxe ykHk dj   (D) mi;qZä lHkh 

Which are of the following is a component of profit? 

(A) Dividend  (B) Undistributed profit  

(C) Corporate Profit Tax  (D) All the above 

82. oLrq fofue; ç.kkyh ds ykHk gSa% 

(A) ljy ç.kkyh  (B) vkilh lg;ksx ij o`f)  

(C) vkfFkZd vlekurk,a ugha  (D) mi;qZä lHkh 
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Advantage(s) of Barter System is/are:  

(A) Simple System  (B) More Mutual Cooperation  

(C) No Economic disparities  (D) All the above 

83. Þeqæk og gS tks eqæk dk dk;Z djsaß fdlus dgk Fkk\   

(A) gkVZys fonlZ (B) gkVªs 

(C) çks- Fk‚el  (D) dhUl 

“Money is what money does” who said it?  

(A) Hartley Withers  (B) Hawtrey 

(C) Prof. Thomas  (D) Keynes 

84. eqæk ds dk;Z gSa 

(A) fofue; dk ek/;e  (B) ewY; dk ekid  

(C) ewY; dk lap;  (D) buesa ls lHkh 

The functions of money is  

(A) Medium exchange  (B) Measure of value  

(C) Store of value (D) All of these 

85. fuEu esa ls dkSu fof/kxzká eqæk gS\ 

(A) lk[k eqæk  (B) çpfyr i= eqæk  

(C) Mªk¶V  (D) buesa ls dksbZ ugha 

Which of the following is Legal Tender Money? 

(A) Credit Money (B) Circulated Paper Money 

(C) Draft  (D) None of these 

86. O;kikfjd cSad ds çkFkfed dk;Z dkSu ls gSa\ 

(A) tek,¡ Lohdkj djuk  (B) _.k nsuk  

(C) lk[k fuekZ.k  (D) mi;qZDr lHkh 

Which of the primary function of Commercial Bank? 



 

Page 25 of 31 
 

(A) Accepting deposits  (B) Provide loans  

(C) Credit creation  (D) All the above 

87. lk[k xq.kd gksrk gS% 

(A) 
ଵ

஼ோோ
 (B) udn × 

ଵ

஼ோோ
 

(C) udn × CRR (D) buesa ls dksbZ ugha 

Credit Multiplier is: 

(A) 
ଵ

஼ோோ
 (B) Cash × 

ଵ

஼ோோ
 

(C)  Cash × CRR (D)  None of these 

88. O;kikfjd cSad%  

(A) uksV fuxZeu djrk gS (B) xzkgdksa ls tek Lohdkj djrk gS 

(C) xzkgdksa dks _.k nsrk gS  (D) dsoy (B) ,oa (C) 

Commercial bank:  

(A) Issue currency notes  (B) Accept deposits from customers  

(C) Provide loan to customers  (D)  Only (B) and (C) 

89. dsaæh; cSad }kjk dkSu lh eqæk tkjh dh tkrh gS\ 

(A) py eqæk  (B) lk[k eqæk  

(C) flDds  (D) buesa ls lHkh 

Which type of currency is issued by the central bank? 

(A) Currency  (B) Credit money  

(C) Coins  (D) All of these 

90. ns'k esa dkxth uksV tkjh djus dk dk;Z dkSu djrk gS\ 

(A) O;kikfjd cSad  (B) dsaæh; cSad  

(C) vkS|ksfxd cSad  (D) fo'o cSad 

Who issues paper currency in the country? 

(A) Commercial bank  (B) Central Bank  

(C) Industrial Bank  (D) World Bank 
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91. fuEu esa ls dkSu lk[k fu;a=.k dh xq.kkRed fof/k gS\ 

(A) cSadksa ds udn dks"k 

vuqikr esa ifjorZu  

(B) miHkksäk lk[k ij fu;a=.k  

(C) [kqys cktkj dk dk;ZØe  (D) cSad nj esa ifjorZu 

Which of the following is a qualitative method of credit control?  

(A)   Change in cash reserve 

ratio of Banks  

(B)   Restriction on 

consumer credit  

(C)   Open market operation  (D)   Change in Bank Rate 

92. eqæk iwfrZ dk fu;a=.k dkSu djrk gS\ 

(A) Hkkjr ljdkj  (B) fjtoZ cSad vk¡Q bafM;k  

(C) okf.kfT;d cSad (D) ;kstuk vk;ksx 

Who regulates money supply?  

(A) Government of India  (B) Reserve Bank of India  

(C) Commercial Bank  (D) Planning Commission 

93. lk[k eqæk dk foLrkj gksrk gS tc CRR:  

(A) ?kVrk gS  (B) c<+rk gS  

(C) (A) ,oa (B) nksuksa  (D) buesa ls dksbZ ugha 

Credit money is increased when CRR ? 

(A) Falls  (B) Rises 

(C) Both (A) and (B) (D) None of these 

94. ujflEge lfefr dk lEcU/k fdl ls gS\ 

(A) dj lq/kkj  (B) cSafdax lq/kkj  

(C) —f"k lq/kkj (D) vk/kkjHkwr lajpuk lq/kkj 

With which Narsimham committee is related to: 

(A)   Tax Reform  (B)   Banking Reform  

(C)   Agriculture Reform  (D)   Infrastructure reform 

95.  1980 esa dqy fdrus cSadksa dk jk"Vªh;dj.k fd;k x;k Fkk\ 
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(A) 20 (B) 6 

(C) 8  (D) 10 

How many banks were Nationalised in 1980 ? 

(A)  20 (B)  6 

(C)  8   (D) 10 

96. egkeanh fdl o"kZ vkbZ Fkh\ 

(A) 1949  (B) 1939  

(C) 1929  (D) buesa ls dksbZ ugha 

The great dispersion carb in which year?  

(A) 1949  (B) 1939  

(C) 1929 (D) None of these 

97. vk; ,oa mRiknu ds larqyu Lrj ij lkewfgd ekax esa o`f) gksus ij fdlesa òf) 

gksrh gS\ 

(A) jkstxkj  (B) mRiknu  

(C) vk;  (D) mi;qZä lHkh 

Which increases due to increases in aggregate demand of equilibrium 

level of income and production? 

(A) Employment  (B) Production 

(C) Income (D) All the above 

98. dhUl dk xq.kd fl)kar fuEu esa ls fdlds chp lEcU/k LFkkfir djrk gS\ 

(A) fuos'k rFkk vk; ds chp   (B) vk; rFkk miHkksx ds chp  

(C) cpr rFkk fuos'k ds chp  (D) buesa ls dksbZ ugha 

Keynesian multiplier theory establishes relationship between which of the 

following? 

(A) Investment and Income  (B) Income and Consumption 

(C) Saving and Investment (D) None of these 

99. jktdks"kh; uhfr ds vUrxZr fdls 'kkfey fd;k tkrk gS\ 
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(A) lkoZtfud O;;  (B) djkjksi.k  

(C) lkoZtfud _.k  (D) mi;qZä lHkh 

Which one is included in Fiscal Policy? 

(A) Public Expenditure (B) Taxation 

(C) Public Debt (D) All the above 

100. fuEufyf[kr esa dkSu lh jktLo çkfIr ugha gS\ 

(A) _.kksa dh olwyh  (B) fons'kh vuqnku  

(C) lkoZtfud miØeksa ds ykHk  (D) laifÙk dj 

Which of the following is not a revenue receipt? 

(A) Recovery of Loans  (B) Foreign Grants  

(C) Profit of Public Enterprises (D) Wealth Tax 
 

[k.M&c / SECTION-B 

y?kq mÙkjh; ç'u / Short Answer Type Question 

ç'u la[;k 1 ls 30 rd y?kq mÙkjh; ç'u gSaA buesa ls fdUgha15 ç'uksa dk mÙkj nsaA 

çR;sd ç'uksa ds fy, 2 vad fu/kkZfjr gSA                     𝟏𝟓 × 𝟐 = 𝟑𝟎 

Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15 
questions. Each question carries 2 marks.       15 × 2 = 30 

1. lk/ku dher fu/kkZj.k ls D;k vk”k; gS\      2 

What is meant by factor price determination? 

2. iwathoknh vFkZO;oLFkk dks le>k,A       2 

Explain capitalistic Economy . 

3. miHkksäk larqyu dh ifjHkk’kk nhft,A      2 

Define consumer’s Equilibrium . 

4. ‘bPNk’ vkSj ‘Ekk¡x’ esa nks varj crk;as\      2 

Mention two differences between ‘Desire’ and ‘Demand’ 

5. Ekk¡x dc iw.kZr% ykspnkj ekax curh gS\      2 
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When the demand becomes Perfectly Elastic Demand? 

6. mRiknu ds fLFkj lk/kuksa ls D;k rkRi;Z gS\     2 

What is meant by fixed factors of production ? 

7. lhekar ykxr dh ifjHkk"kk nhft, A      2 

Define Marginal Cost. 

8. dqy vkxe dc ?kVuk çkjaHk dj nsrh gS\      2 

When does the Total revenue (TR) starts declining? 

9. QeZ ds larqyu ls D;k rkRi;Z gS\       2 

What is the meaning of Firm’s Equilibrium? 

10. iwfrZ dk fu;e crk;sa A        2 

State the Law of Supply. 

11. iwfrZ dh dher yksp dk D;k vfHkçk; gS\      2 

What does price elasticity of supply mean? 

12. iw.kZ çfr;ksfxrk dh nks fo'ks"krk fy[ksaA      2 

Write two features of perfect competition. 

13. cktkj larqyu dher dh foospuk dhft,A     2 

Explain the market equilibrium price. 

14. O;qRiUu ek¡x fdls dgrs gSa\        2 

What is derived Demand? 

15. O;f"V vFkZ'kkL= vkSj lef"V vFkZ'kkL= esa varj crk;saA    2 

Mention the difference between Micro Economics and Macro  

Economics. 

16. vk; ds çokg dks pØh; çokg D;ksa dgrs gSa\     2 

Why Flow of income is called circular Flow? 

17. ldy ?kjsyw mRikn rFkk ldy jk"Vªh; mRikn esa nks varj crk;saA  2 

Mention two differences between Gross Domestic product and Gross 

National Product. 

18. gLrkUrj.k Hkqxrku D;k gS\       2 
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What is transfer payment? 

19. eqæk ds nks xkS.k dk;Z crk;saA       2 

State two secondary functions of money. 

20. vFkZO;oLFkk esa lk[k fuekZ.k dkSu djrk gS\     2 

Who creates credit in the Economy? 

21. [kqys cktkj dh dk;Zokgh ls D;k vk'k; gS\     2 

What is meant by Open market operation? 

22. çFke ujflEge lfefr dh fdUgha nks flQkfj'kksa dks fy[ksaA   2 

Mention any two recommendations of first Narsimham committee. 

23. lexz ekax dk vFkZ crk;saA        2 

State the meaning of aggregate demand. 

24. dhUl dk cpr&fuos'k –f"Vdks.k D;k gS\      2 

What is Keynesian saving-investment view point? 

25. lhekar miHkksx ço`fÙk ds :i esa fuos'k xq.kd dk lw= crk;saA   2 

State the formula of investment multiplier in terms of MPC. 

26. voLQhfrd varjky dh /kkj.kk dks Li"V djsaA     2 

Explain the concept of deflationary gap. 

27. cSad nj uhfr D;k gS\        2 

What is bank rate policy? 

28. çxfr'khy dj dh ifjHkk"kk nsaA       2 

Define Progressive Tax. 

29. fLFkj fofue; nj D;k gS\        2 

What is fixed exchange rate? 

30. O;kikj larqyu ls D;k vfHkçk; gS\       2 

What is meant by Trade balance? 

nh?kZ mÙkjh; ç'u / Long Answer Type Question 

ç'u la[;k 31 ls 38 nh?kZ mÙkjh; ç’u gSaA buesa ls fdUgha 4 ç'uksa ds mÙkj nsaA çR;sd 
ds fy, 5 vad fu/kkZfjr gSA           𝟒 × 𝟓 = 𝟐𝟎 
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Question Nos. 31 to 38 are Long Answer Type Questions. Answer any 4 questions. 
Each question carries 5 marks.             4 × 5 = 20 

31. ekax ds fu;e ds D;k viokn gS\ le>k,A     5 

What are the exception of Law of Demand? Explain 

32. ekax dh yksp dks çHkkfor djus okys rRoksa dh O;k[;k dhft,\   5 

Explain the factors determining elasticity of demand. 

33. fLFkj ,oa ifjorZu'khy ykxr esa varj Li"V dhft,\    5 

Distinguish difference between fixed and variable cost. 

34. iwfrZ dh yksp ekius dh fof/k;k¡ le>k,A      5 

Explain the methods of measuring elasticity of Supply. 

35. cktkj ewY; ,oa lkekU; ewY; esa ijLij lEcU/k Li"V dhft,A    5 

Explain the relationship between market price and normal price. 

36. Hkkjrh; fjtoZ cSad ds eq[; dk;ksZa dk o.kZu djsa A    5 

Explain the main functions of Reserve Bank of India. 

37. ljdkjh ctV ds mís';ksa dks crkb, A 

State the objectives of Government Budget.  

38. Hkqxrku 'ks"k esa ?kkVs ds vfHkçk; dks Li"V dhft, A    5 

Explain the meaning of deficit in balance of payment. 

 

 


